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QUESTION 1

What are three ways to claim an AP? (Choose three.) 

A. Enter the order ID. 

B. Enter the AP serial number. 

C. Enter the activation code. 

D. Use the Mist Al application. 

E. Enter the AP claim code. 

Correct Answer: CDE 

Reference: https://www.mist.com/documentation/claiming-aps/ 

 

QUESTION 2

A network engineer is looking to provision a new WLAN through the REST API. Referring to the exhibit, which HTTP
method should the request use to achieve this goal? 

A. POST 

B. DELETE 

C. GET 

D. PUT 
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Correct Answer: A 

Reference: https://www.mist.com/documentation/mist-api-introduction/ 

 

QUESTION 3

What happens first when a client requests to join a WLAN? 

A. 802. 11 authentication 

B. ARP request 

C. 802.11 association 

D. DHCP discovery 

Correct Answer: A 

Reference: https://netbeez.net/blog/how-wifi-connection-works/ 

 

QUESTION 4

How is Mist BLE location calculated? 

A. relationships with specific tag vendors 

B. tightly coupled software between the SDK client and the arrays 

C. probability surface with machine learning 

D. triangulation 

Correct Answer: C 

Reference: https://www.mist.com/documentation/location-how-it-works/ 

 

QUESTION 5

How is the WLAN affected if Wi-Fi 6 is disabled? 

A. The maximum theoretical data rate is reduced. 

B. No Wi-Fi 6 clients will be able to connect. 

C. All clients will connect using Wi-Fi 5. 

D. No 802. 11ax clients will be able to connect. 

Correct Answer: D 

Reference: https://www.mist.com/documentation/disable-wifi-6/ 
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